SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 4)

TEST 1

Name:

Time: Score:

0964437 — 501031 =

2 982128 — 82011 =

39 468919 — 47719 =

1762924 — 310903 =

5 244719 — 22607 =

6 855479 — 744376 =

N 980914 — 880704 =

9 581260 — 551120 =

9 233845 — 133705 =

1) 412748 — 210704 =

1) 1486111 — 1150101 =

12) 8626236 — 4404016 =

13 649816 — 407500 =

1) 967816 — 225403 =

15 902133 — 702001 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 4
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543898 — 321538 =

886038 — 774038 =

541997 — 340676 =

648076 — 335013 =

522810 — 201000 =

509732 — 304502 =

714423 — 312102 =

2357144 — 1034132 =

9370768 — 5350035 =

382343 — 301242 =

816412 — 715202 =

DODTAT — 224725 =

558930 — 21130 =

487909 — 204006 =

212915 — 101712 =
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